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PHYS 102: General Physics2 KOC UNIVERSITY
College of Sciences

Section 1 Quiz

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Fall Semester 2015

October 2, 2015
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Four point charges q,—2q,3q,—4q will be placed at the
corners of a square of side length 2a. The square is centered
about the origin in the x-y plane as shown in the figure. Find
the configuration of charges for which the electric field at the
origin is only in the +§ direction and calculate its magnitude.

(The constant in Coulomb’s law is s )
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Section 2 Quiz October 2, 2015

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes
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Two identical charges of +q are placed at points (x,d) and (x,—d) respectively in the
x-y plane. Find x such that the electric field at the origin is maximum. (The constant in

. 1
Coulomb’s law is —)
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Two particles have the same mass m but opposite charges +q. The particles are fixed at
the ends of two equal ropes of length d and suspended from two points separated by 2d

as shown in the figure. Under a uniform constant electric field Eo, the ropes stay vertical
and the tension on each rope is equal to mg. Find the direction and the magnitude of Ej.
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